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Briiche verkiirzen Name:
Kirzejeden Bruch so viel wie méglich. Antworten
Bsp) 35 5 1) 6 2) 16 VA
- -= —= —= Bsp. 8
56 8 36 24
1.
2.
I 2 Y 56 _ 5 2 ;
6 64 12
4,
5.
© 10 _ N 8 _ 8 27 _ 6
40 24 72
7.
8.
9 9 10) 27 11) 20 N
54 36 32
10.
11.
12) 7 13) 3 14) 2 12
14 24~ 16
13.
14.
15 18 16) 30 17) 9 1
48 48 12 6.
17.
18 9 _ 19 12 _ 20) 15 _
36 18 18 19
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Briiche verkiirzen Name: L Osungsschlissel
Kirzejeden Bruch so viel wie méglich. Antworten
Bs) 35_5 D 6 _1 2 16_2 ; 7,
56 8 36 6 24~ 3 ¥
1
1. 6
2
2. 3
Y 2_1 9 56 _7 9 2 _1 s /s
6 3 64 8 12 6 )
4. 8
1
5. 6
6 10_1 N8 _1 8 27_3 S/
40 4 24 3 72 8 1
7. 3
3
8. 8
1
9 9 _1 10 27_3 1 20_5 ° 6
54 6 3% 4 32 8 3
10. 4
5
11. 8
1
12) 7 1 13) 3 1 4 2 1 12. 2
14 2 24 8 16 8 1
13. 8
1
14. 8
3
15 18 3 16) 30 5 17) 9 3 e 5
19 " a 1Q aq PrE 5
48 8 48 8 12 4 16. 8
3
17. 4
1
18 9 _1 19 12_2 ) 15_5 v
36 4 18 3 18 6 1. 2
5
20. /6
1-10195|90|85(80|75|70| 65|60 (55|50
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